k&AM FEZ FEHOERZ 01
1. OMIZEZ L. (SHH12108, A¥k24, B3 7, Ckd 308 )

(1) 240mBEENTWS A B2HSOMZ2EHE L2 17 13EH 48m OEX T, i1 I13EH 80m TiHA
72, RO O X T m .

(2)  216kmEENT WS A B2HSOMAZFHEE L~ 7213ED 72m OFEX T, IF 0 I13EH 90m Tif
AT AFE DY O X XA m D>,
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2.

IRORNZEZ K. (SH1220%, A%k24, B#3 D, C#k44 308 )

(1) 1200mEENTWS A B2HHOMZFEE L. 17 13H0 120m OEX T, 0 I3ESD 80m T
ATZ . FEAE DY O X 13450 m .

(2)  252kmEfNTWA A B2HHOMAZFE L. 7E13E0 105m OEX T, 1#0I1xED 140m T
YA ARE O O X134 A m D,
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S
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ROMIZEZ X, (SH12 108, Afk245, B34,

FRE ARER

CH#eadr30%)

X EEFLEDER () WIFRADEBIE.
1 T || I~ km (~km/h) | 2&FE~m (~m/7) | BE#E~m (~m/s)
U - R ~ [ (~h) ~ ~® (~s)
& - DR ~ km ~m ~m

YR X OMETIE, BAITHEE.

(1)

240m BT \\WB A B2 iSO 2 FE L. 17

72 AEE O O X 13 m .

K X =K
i1 o | FEeE
WX | 48m/43 [ 80m/4r | ¥ m/5)
RefE || 7 & 1 453 T
EAEE | 240m | 240m Z4 m

7 = 240m + 48 m /4 = 54
1 =240m <+ 80m/7; =377

I =5+3=8%

7 =240 + 240 = 480 m

Y=+ T =480m < 84 = 60m/%

(2)

2.16km BN T\\WA A B2 EZFEELEZ. 75

ATZ AR E O O X 1352 m .

KEI>R KBAIIESITHE—

3 48m DEX T,

17 o | FEEK
HME | 72m/7r | 90m/73 | YV m/7>
(ST ) uii) T
FREE | 2160m | 2160m | A m
7 =2160m = 72m/% = 30 73
1 =2160m +90m/73 =24 73

T =30+24=547)
U =4+ T =4320m 547 =80m/%

© B - BHERELO D!

A = 2160 + 2160 = 4320 m

e

XED 72m DEX T,

i

D135 80m THEA

01X 90m Tt
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IRORNZEZ K. (SH1220%, A%k24, B#3 D, C#k44 308 )

X EEFLEDXR () WIFRADEBIE.

- T || R~ km (~km/h) | 2~ m (~m/457) | B~ m (~m/s)
U - KlH ~ K] (~h) ~ 73 ~# (~s)
& - HHAE ~km ~m ~m

YR I OMETIE, BALIZHER.

(1) 1200m BN T2 A B2 GO EEEL 2. 17 E13E 120m OEE T, 1D 13455 80m THt
AT AR DY D X (3] m 2.

* o X =5K
fr& o | EEeR
W | 120m/43 | 80m/43 | ¥ m/%
FRf ] 74 1 57 T4y
PAEE | 1200m | 1200m Z m

7 =1200m = 120m/4 = 10 43
1 =1200m <+ 80m/4 = 15 43

T=10+15=25% # = 1200 + 1200 = 2400 m
M=+ T =2400m =254 =96m/%

(2)  252kmEfNTWA A B2 A FE L. 7E13E0 105m OFEX T, I#0I1xHED 140m T
T AT FEAE DY O X 130 m A

KES>R KBAIIES ITHE—

fr& I D EX N
WX | 105m/% | 140m/43 | 7 m/ 5
IR 7 A 43 T4
PAEE | 2520m | 2520m Z m

7 =2520m =+ 105m/77 = 24 7
4 =2520m = 140m/% = 18 43

T =24+418=4277 F = 2520 4+ 2520 = 5040 m
=4+ =5040m =427 =120m/5
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